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]strons are

I

Option A: decieases

Option B: lncreases

Option C:
Option D:

2. Find Reynolds number if velocity of fluid is 2 m/s and densiiy of fluid 800 kg/ml
and Viscosity 0.2 N.s/m2 is flowing through 0.25 rn diarneter pipe.

Option A: 2000 :

Option B 204
Opiion C 2A

Cptron D: 2

3. C the iqqtt
OptionA: Relnoids number ' 'r,-'-. .'' -, ' ''
Option B: Mach's number ..}.1; : ,a i-1"

Option C: Euler's uumber
Option D: froridg.:i,.lrii-lnter ,'' . .- -,i:, ii-:.,:';,.: ;* 'i,,' .J .:*";;:r .,,1

4. @wnas
Option A: ,. Potential'g,nergy
Option Bj pre$sure elcrgy I I,t .' ',' -:,;- r.:,::

-qpu!g- kinetic encrgy pcr unit weight _
Option D'. kinetic energy

;i-;.:-J i.
.;* \."..' Which property of the fluid accounts for the major losses in pipes?
Option A: Density
Opticn B: Specific graviil'
Option C: Viscosity .\:

Optiorr D: Compressibrlity
'1:l ,'': .:r' : : ..t\

':fu!.1 r: If liquid has specific gravity 0.2, then what is weight density of the iiquid I
Option A: 200 N/rl'
Option B: 2000 Nimr
Ootion C: 1.962 Nlm'
0ption D: 1.962 N/nr'

.i -.-

The Re;,nolds transport theorem establishes a reiaticnship betrveerr
and
Control rrass systenr. Control volume system

Option B: Differential crlLrat ion" I ion
Option C: Non-conserr,at ivc ec1uatior.r, Consenative equation
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Time: 3 hour

Choose the correct option for
and carrv equal marks



Option D: Substantial derivative, Local derivative

8. The coefficient ofdischarge of Venturimeter lies within the limits:
OptionA: 0.95 to 0.99

Option B: 0.8 to 0.85
Option C: 0.7 to 0.8
Option D: 0.6 to 0.7

9.
io" A

The maximum velocity in a circular pipe when flow is laminar occurs-rt
@

Ootion B: the bottom of the pipe
ion C: the centre of the pipe

Option D: nol necessarily at the centre

10. What is the graph that is represe-nted in the airfoil section?
ion A: Lift-moment ratio
icn B: Coeffrcient of lift-coefficienf'of drag ratio
icn C: Angle of attack.drag ratio

Option D: Lift-angle of artack ratio

A I rn wide and 1.5 m deep rectangular plane surface lie.s in water
plane makes an angle.of 30" with rhe free tvater surface Dctemrine
position of centre of pressure when thi: upper edge is 0.75 m
surface.

Solve any Tn o 5 marks each
Wtrat is Pascal law and Archimedes Principle?.
How <io you determination r.rf head loss in pipes due to friction
Write short notes on trrres'of fluids,
Solve anv One 10'marks.each

in such a way that its
the total pressure and
below the free water

In a two-dimensional incompressible flow, the fluid velocitl. con-Iponents are
given byu = x.-4y and v:-y-4x. Show that velocity potential exists and determine
its form as well as stream function.,,' : '

Q3.

A Solve anf Tlvo 5 marks each
L Wrat qre the properties of Newtonian and non-Newtonian fluids'?
l1 V,/ith near skctch explain working and construction of venturimeter

111. Write a short note on Buckingham's,r theorem.
B Solve'anv One 10 nrarks each
I

,l

Determi;re the i'low rate through the Venturimeter shorvn in figLrre ( l:pg)
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I l- Find the magnitude and ciirection of the resultant water pressure acting on i c. ,ed fuce
of a dam which is shaped according ro rhe relation y : 1x2is) as shown in fig. The
height of the water retained by the dam is 10 m. Consider the ividth of the dam as unity.

\::- t,

,\.

{_'

Define stream firnction and veloci function.
Write short note on boundary layer ion and rnethods to control it
Solve anv One . 10 marks eaeh ,

determine the rate of flow of oil.

An oil of viscosity 9 poise and specific gravit;, 0.9 is flowing through a troiA-ntat pip"
of 60 mm diameter. If thc plessure di'op in 100 m length of the pipe is 1800 kN/rn2

-[,:15 m

J

in a 0.20-cm-diarnctcrWater { p:999.7 kglm3 and p:1.307 xlrJ-3 kg/rn.s) is

m-long pipc steadily at an avcragc ',elucity of, 1.2 rn/s.
Determine
(a) the pressure drop and
(b) The pumping power iequirenrent to ovcrcomc this pressure drop

lYater
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